Env. Sci. Prometric #1
1. Which type of diversity is a component of biodiversity?

	  
	
	A. species 

	  
	
	B. ecological 

	  
	
	C. functional 

	  
	
	D. all of the above 



2.
Which of the following is NOT one of the models of succession?

	  
	
	A. progression 

	  
	
	B. facilitation 

	  
	
	C. inhibition 

	  
	
	D. intolerance 



3.
Field mice living in a cornfield are an example of a(n)

	  
	
	A. ecosystem. 

	  
	
	B. biosphere. 

	  
	
	C. habitat. 

	  
	
	D. population. 


4.
Within a cell, the number or structure of DNA molecules can change randomly and be inherited by offspring. This is called

	  
	
	A. natural selection. 

	  
	
	B. differential reproduction. 

	  
	
	C. mutation. 

	  
	
	D. an endemic species. 



5.
An environment that includes various species interacting with each other in a particular place and also includes the nonliving environment is called a(n)

	  
	
	A. population. 

	  
	
	B. habitat. 

	  
	
	C. ecosystem. 

	  
	
	D. biosphere. 


6.
Animals that eat producers are called

	  
	
	A. higher-level consumers. 

	  
	
	B. post-secondary producers. 

	  
	
	C. primary consumers. 

	  
	
	D. decomposers. 


7.
A species that can eat a wide variety of foods, live in a lot of different places, and survive many different environmental conditions is a(n)

	  
	
	A. ecological niche species. 

	  
	
	B. stable species. 

	  
	
	C. distinctive species. 

	  
	
	D. generalist species. 


8.
An earthworm is an example of a(n)

	  
	
	A. detritus feeder. 

	  
	
	B. omnivore. 

	  
	
	C. primary consumer. 

	  
	
	D. decomposer. 


9.
As energy is transferred through food chains and food webs, the amount of chemical energy available to organisms at each succeeding feeding level

	  
	
	A. increases. 

	  
	
	B. decreases. 

	  
	
	C. varies depending on the type of ecosystem. 

	  
	
	D. remains the same. 


10.
What percentage of people in the world survive by primarily eating corn, wheat, rice and other things at the first trophic level?

	  
	
	A. 50 percent 

	  
	
	B. almost 100 percent 

	  
	
	C. 66 percent 

	  
	
	D. about two percent 


11.
Which layer of the atmosphere contains the green house gases methane, water vapor and carbon dioxide?

	  
	
	A. troposphere 

	  
	
	B. geosphere 

	  
	
	C. biosphere 

	  
	
	D. stratosphere 


12.
Within a population, if one or more organisms is born with the ability to tolerate a chemical designed to kill it, this ability is called

	  
	
	A. adaptation. 

	  
	
	B. genetic resistance. 

	  
	
	C. genetic variability. 

	  
	
	D. natural selection. 


13.
Which lush forests have warm temperatures year round, high humidity, and rain almost every day?

	  
	
	A. tropical rain forests 

	  
	
	B. temperate deciduous forests 

	  
	
	C. boreal forests 

	  
	
	D. coniferous forests 


14.
Because birds are affected quickly by chemical pesticides, they are an example of a(n)

	  
	
	A. native species. 

	  
	
	B. keystone species. 

	  
	
	C. indicator species. 

	  
	
	D. nonnative species. 


15.
What is NOT one of the three major processes of the water cycle?

	  
	
	A. evaporation 

	  
	
	B. hydrolyzation 

	  
	
	C. precipitation 

	  
	
	D. transpiration 


16.
Which of the following statements about plastics is NOT true?

	  
	
	A. About 15% of all plastic waste in the U.S. is recycled. 

	  
	
	B. Birds can eat small plastic particles and then die from malnutrition and starvation. 

	  
	
	C. Some level of plastic is found in most of the sea food that people eat. 

	  
	
	D. Plastic litter on beaches and in the ocean can disintegrate into particles the size of sand grains. 


17.
What percentage of the world's commercially valuable fish stocks are overexploited?

	  
	
	A. 100%

	  
	
	B. 77%

	  
	
	C. 24 %

	  
	
	D. 58%


18.
Today ___________ of Americans and almost ____________ of the world's people live in urban areas.

	  
	
	A. 50%, 80% 

	  
	
	B. 79%, 50% 

	  
	
	C. 79%, 20% 

	  
	
	D. 50%, 30% 


19.
Over hours and days, measurement of a local area's humidity, short-term temperature, cloud cover, precipitation, and wind speed creates a description of that area’s

	  
	
	A. weather. 

	  
	
	B. climate. 

	  
	
	C. greenhouse gas effect. 

	  
	
	D. natural conditions. 


20. The consequences of desertification do NOT include which of the following?

	  
	
	A. changes in biodiversity 

	  
	
	B. water shortages 

	  
	
	C. poor harvests 

	  
	
	D. decreased poverty 


21. The concentration of motor vehicles and industry in urban centers disrupts

	  
	
	A. local portions of the polycarbonate cycle. 

	  
	
	B. global portions of the biocarbon cycle. 

	  
	
	C. the nitrogen cycle. 

	  
	
	D. none of the above 


22. Changing parts of an organism's DNA and altering its genetic material to create traits that are desirable or to eliminate traits that are undesirable is called

	  
	
	A. cross breeding. 

	  
	
	B. non-traditional intensive agriculture. 

	  
	
	C. genetic engineering. 

	  
	
	D. polyculturation. 


23. Which activities release carbon dioxide, methane, and nitrous oxide into the atmosphere?

	  
	
	A. burning fossil fuels 

	  
	
	B. clearing forests 

	  
	
	C. growing crops 

	  
	
	D. all of the above 


24. What is an advantage to incinerating municipal solid wastes?

	  
	
	A. High heat decreases the toxicity of materials. 

	  
	
	B. Waste volume is reduced. 

	  
	
	C. Less skill is required. 

	  
	A. 
	D. There is no advantage to incinerating municipal solid waste. 


25. Humans contribute to changing the earth's climate because they release large quantities of chemicals that warm the ____________and deplete the ozone in the _______________.

	  
	
	A. troposphere, stratosphere 

	  
	
	B. hydrosphere, troposphere 

	  
	
	C. troposphere, geosphere 

	  
	
	D. geosphere, hydrosphere 



26. Common pollutants that seep into groundwater include

	  
	
	A. fertilizers. 

	  
	
	B. gasoline. 

	  
	
	C. organic solvents. 

	  
	
	D. all of the above 



27. China burns one third of the world's coal which results in

	  
	
	A. circulatory diseases. 

	  
	
	B. acid precipitation in other countries. 

	  
	
	C. large amounts of carbon dioxide emissions. 

	  
	
	D. all of the above 


28. Which is NOT one of three major factors that account for the rapid and exponential growth in human population over the past 200 years?

	  
	
	A. early and modern agriculture 

	  
	
	B. expansion into different climate zones 

	  
	
	C. public health improvements 

	  
	
	D. the decline of the life expectancy rate 


29. Cultural eutrophication can be reduced several different ways. Which of the following is NOT a way to reduce it?

	  
	
	A. improved manure treatment 

	  
	
	B. controlling land use to reduce nutrient runoff 

	  
	
	C. limiting the use of phosphates in detergents 

	  
	
	D. adding more phosphates to detergents 


30. Which of the following is NOT a result of deforestation?

	  
	
	A. soil erosion 

	  
	
	B. increased humidity in the atmosphere 

	  
	
	C. flash flooding 

	  
	
	D. global warming 


31. Biodegradable materials, including food scraps and yard trimmings, are decomposed by bacteria and other microorganisms as part of what process?

	  
	
	A. recycling 

	  
	
	B. composting 

	  
	
	C. waste management 

	  
	
	D. resource allocation 


32. Household sewage and wastewater is pumped into a settling tank. Grease and oil rise, solids fall to the bottom and are decomposed by bacteria. What type of system does this describe?

	  
	
	A. artificial wetlands 

	  
	
	B. recalcification 

	  
	
	C. decomposition 

	  
	
	D. septic 


33. One or more crops planted together in strips between trees and shrubs to provide shade is an example of

	  
	
	A. alley cropping. 

	  
	
	B. terracing. 

	  
	
	C. contour planting. 

	  
	
	D. shelterbelts. 


34. What is NOT a deficiency to current air pollution control laws?

	  
	
	A. Urban ozone levels are still too high in many areas. 

	  
	
	B. Ultrafine particulates are overly regulated. 

	  
	
	C. Airports are exempt from many air pollution regulations. 

	  
	
	D. none of the above 


35. Which of the following is NOT a renewable resource?

	  
	
	A. coal 

	  
	
	B. forests 

	  
	
	C. fisheries 

	  
	
	D. grasslands 


36. The World Health Organization estimates that people have no access to clean drinking water.

	  
	
	A. 90 thousand 

	  
	
	B. 170 million 

	  
	
	C. 1.2 billion 

	  
	
	D. 3 billion 


37. Between 1961 and 1985, food production increased by ______ per capita. Since then, it has generally ___________ .

	  
	
	A. 31%, decreased 

	  
	
	B. 31%, increased 

	  
	
	C. 62%, decreased 
D. 62%, increased


38. Transportation accounts for what part of the United State's oil consumption?
	  
	
	A. two-fifths 

	  
	
	B. one-sixth 

	  
	
	C. two-thirds 

	  
	
	D. one-third 


39. Food waste is an example of

	  
	
	A. industrial solid waste. 

	  
	
	B. municipal solid waste. 

	  
	
	C. hazardous waste. 

	  
	A. 
	D. none of the above 


40. Which of the following is an alternative method that works effectively to control plant diseases and pests and reduces the need for pesticides?

	  
	
	A. importing natural predators 

	  
	
	B. use of insect perfumes 

	  
	
	C. implanting genetic resistance 

	  
	
	D. all of the above 


41. Industries that interact through resource exchange webs in which the wastes of one manufacturer become raw materials for another are called

	  
	
	A. biomimics. 

	  
	
	B. sustainable societies. 

	  
	
	C. industrial ecosystems. 

	  
	
	D. brownfields. 


42. Passive solar heating, use of recycled materials from older buildings, and natural lighting are components of

	  
	
	A. industrial ecosystems. 

	  
	
	B. green architecture. 

	  
	
	C. organic building. 

	  
	
	D. natural building. 


43. What is an advantage to burning solid biomass as a fuel?

	  
	
	A. There is a moderate to high environmental impact. 

	  
	
	B. there is low photosynthetic efficiency. 

	  
	
	C. It is possible to have no net carbon dioxide increase. 

	  
	
	D. It can be nonrenewable. 


44. The United States has about ___________% of the world’s population and raises and kills nearly ___________  animals per year.

	  
	
	A. 10%, 1 billion 

	  
	
	B. 10%, 5 billion 

	  
	
	C. 4.5%, 10 billion 

	  
	
	D. 15%, 10 billion 


45. Heat stored in soil, in underground rocks, and in fluids in the earth's mantle is called

	  
	
	A. geothermal energy. 

	  
	
	B. hydro energy. 

	  
	
	C. bio energy. 

	  
	
	D. hydrogen energy. 


46. Which governmental agency in the United States is responsible for protecting the environment?

	  
	
	A. OSHA 

	  
	
	B. IPCC 

	  
	
	C. EEA 

	  
	
	D. EPA 


47. What is the leading cause of water pollution?

	  
	
	A. acid rain 

	  
	
	B. parking lots 

	  
	
	C. agricultural activities 

	  
	
	D. organic gardens 


48. What international organization coordinates the implementation of environmental policies on a global scale?

	  
	
	A. IPCC 

	  
	
	B. WHO 

	  
	
	C. EEA 

	  
	
	D. UNEP 


49. What is considered the greatest environmental issue facing the world today?

	  
	
	A. less biodiversity 

	  
	
	B. climate change 

	  
	
	C. over population 

	  
	
	D. lack of clean water 


50. What is NOT a governmental strategy to stimulate the short and long term use of newer, possibly alternative, energy resources?

	  
	
	A. de-emphasis on consumer education, more emphasis on legislation 

	  
	
	B. artificially lower prices of selected energy resources to encourage use 

	  
	
	C. increase prices of selected energy resources to discourage use 

	  
	
	D. all of the above 


